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¥429ya31% (Basic wnits)

3 el ®u2Y FoySnasal

ma1uY13 (length 5 1) taes  (metfer) m
9@ (time 5 t ) %M (second) S
%74 (mass : m) Manta (kilogram) kg
qu#d (femperature :T) tmadu (kelvin) K
aszualolsly (electric current s 1) wanuls (ampere) A
131940 (number of particles : n) lua (mole) mol
AIALIALFINSHR9HI19 (luminous intensity : 1)

wAxtaan (candala) cd,
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Tug mol
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A3uon Fowalagaydiug Yo dnuola9swiay (RgutluPuIYREn

aaatsa (velocity: v) Lams/Aud m/s
AaMaLse (acceleration: a) | tams/Fuad? m/s?
wse (force 5 F) 4364 (newton) N IN = tkgm /&
91% (work : W) 18 (joule) J 1Jd =1Nm
wassa (energy : E) 14 (joule) J td =1Nm
A3é (pressure : P) wandma (Pascal) Pa, 1 Pa, =1 N/m

g fndfe (power : P) 5061 (wath) W IW =10/




A19Udssa (prefixes)
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tardugninds fadnqldssn o dnealassingalasse
10'8 L3nTae (exa) E wa29lvg)
10" tlms (peta) P
10'2 tnesn (tera) T
107 e (giga) G
10° Lanz (mega) M
108 fla (kilo) k
10% Lanlen (hecto) h




LaIFUYNNNAS fadnqiassa Sy Snesol99n
dasse
10' teme (deca) da A
10° =1 | vw29%dn fundamental s
whnits)
107 ta® (d.eci) d,
1072 Lruél (centi) c
107¢ fad (milli) m
107 lales ( micro) L
1077 %1% (Nano) n
1072 #la (pico) p
107" lala (Femto) f
107'¢ Sale (atto) a
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AQuasin +  wisowln

Physical quantity measured Base unit

mole

meter

kilogram

second

kelvin

ampere

candela
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S| abbreviation

mol

kg

cd
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fiaagaadn ANwYne 4 Ratwes — Mla tdx Argddsse wat tums tdn wagwdn = 4X10° Lams

Fogwdn 912 wilanfy — anla tda drguasse was nfu Ldu waovwdn = 9.42x1077 ot

A9190659999L 3081989120 LINLBUNRS/TUIT = oo bURIS /AT

120X10% Lums/Fu09 = 1.2X10* Lams/Auh

'imas;aauaaafwatn 18,015.28 faantalua = oo, a¥auldua

18,015.28 %107 n¥alua = 1.801528 x10 n¥u/lua
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61999790 1 b/agn®ru2997m 20 Faan¥y — nfy

20 Jaanfy = 20X %ad n¥y
= 20X107° §¥y

51999797 2 LURYARRIYIM 20 —> LANSLUBS —> LUKS
20 diadnsy = 20X Lane LGS
r = 20X10° LaMS
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§999797 3 LS9 uwadanem 3,000,000,000 Tun — 3nzlan
3.000,000,000 s = 3x107 Luy
= 3x107 /107 Fnclay

= 3x107x10"" Fnclay

= 3 Fnclan
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§29979% 4 tdSyurA2991n 3 LAMS —> baulASLUGS
3 Lams = 3/10™ lalastams

= 3x10° lalastuss
= 3,000,000 balpstums
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Fa9979 5 tUSyuwuagem 20 Fadn¥y — flanty

o. 20 fiaanfy = 20X %aa ¥y
= 20%107° nf¥u

b, tldguwdagem 20x107° afa — anda
20107 n¥a = 20x107° /fla  nda
= 20%x107° /10° 8w
= 20107 x 107 flanda
= 20x10™ Hlandy
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51999199 6 LUYRYARAIYIM 50 LUUGLANS — s‘fiawms

o. 50 Jaanfy = 50X LvYw6 LuGS
= 50%107% Lu@§

b, tdBguwaagenm 50X1072 Lams — atues
50%1072 Lums = 50x1072 /fla  Lums
= 50%107% /10°  tu@s
= 50%1072 % 107 Alatues
= 50x10° flatums




Lasldyudatamsialddlvaglagives A 10" Tag 0 < A < 10
(scientific notation)

n. 40,000 —>  4x10*
9. 0.0021 —>  2.1x103
A. 67 — 6.7x101
9. 0.789
9. 480
a. 0.048
€. 497,000
7. 0.000967
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2936089826 a991999 LR LU Rb 1% IRbA U R T INATY Y
( diecimal notation)

a4 x 10° —_— 4,000,000

9, 367 x 02 ——> 00

A. 4.67 x 10°
9. 4 x 10"
9. 3.7 x 10
® b X108
1. 1.6 % 1©0°

o 417 % 107°
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n afefdevesmglalaidey = 4.2x0 s —> 4.2 s
% 9mHIms§w 1 ce.  dlaea = 0.001293 g —— 1293 mg

a. PINENSENGAT¥ase x-Pay = 54HRI0° V

5. Adudngsmamddedinanad = 0.14° 107 Hz

3. WaIAAIINTuTMELIeralntends = 38,200 cal
a. dszqlslshuagiadage = 4.32° 10%¢

q. mﬁm?ausfshq:uzuﬁmq = 2.997.900 m/s

. andalugddaiwdn = 2.0°10" Pa,

. anaseandednuntlamsnangidalogssnss = 1,578,000 JAKg
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tWiyaameaantaalatdursayfmge tSgusmwalagSanguidawaagieals

1 tamrs(m) = 3.28 e [1oe (ft) = 3048 bvuibams
 Lams (m) = 3937 43 [1daGn) = 254 Lraditans
f flandautkg) = 2.2 dous [1 douall) = 0.453 flana

1 3 (s) = 1/3600 dalus |1 Falus (hr) = 3,600 U
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